S8 X1 LATY a

— b

V12/10(+£)

Aal  KHE C(aI—"h ] Da—+ el
1 9:00 EAFHRISC - TRIREISC HEE HE - EXE HEE
2 9:30 FEEE - EFHFC HEE T ANT - FERHFC HEH
3] 10:00 | A7AvE—V - C1ES tHESE D1% - HEISSC tHESE
4 10:30 C1& - C2& HEE DIf - D& HEZE
5 11:00 C2fs - C3fB5 HEE D2 - D35 HEZE
6 11:30 (38 - C4F% HEE D3& - D45 HEZE
1 12:00 (58 - D5& HEE (45 - Dif HEZE
8 12:30 C6Ms - D6 HEE 6% - D6& HEZE
9 13:00 C55 - D55 HEE - FMAHE 2
10 | 13:30 - FMIEE 2 - FMAHE 2
1T | 14:00 - FMIHE 2 - FMIHE 28

15: 00582/

(FH]) HESFILERAF—L 5k GRIF—L4 &Y susrs

(GRammE] 1290N—7 (12-3-12)

BEF—LFARBETAATEBHHELLZIWV



K o

D3

DI

D5

D2

€9
c1

C2

12

AU b—F AV MR

=
E

Hr K B

C5

._._w_..‘WAD.JSC

Cl

€3

._n_ME.m:.mAJSC

NDNKRAN®— A

D6

8

D7
D8

Fy L UIT Bk

6







